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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

búˆ Yy ( 6th Paper : Social Institutions ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) Y◊Ã[˝[˝Á„Ã[˝Ã[˝ aep˚Á ◊VX* Y◊Ã[˝[˝Á„Ã[˝Ã[˝ Y“EıÁÃ[˝„\ˆVm◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
 (F) XÃ^Á-Y“Á◊TˆúˆÁ◊XEı %UÔX›◊TˆÃ[˝ Y“[˝N˛ÁÃ[˝Á %UÔÍX◊TˆEı C 

Ã[˝ÁLÍX◊TˆEı Y“◊TˆúˆÁXa]…„c˜Ã[˝ YÁÃ[˝&◊Ã[˝Eı a+EÔı„Eı 
◊Eı\ˆÁ„[˝ ◊[˝‰`¿bS Eı„Ã[˝X ? 

 (G) Ã[˝ÁLÍX◊TˆEı V„_Ã[˝ EıÁ^ÔÁ[˝_› %Á„_ÁªJÙXÁ EıÃ[˝”X* 
 (H) W˝„]ÔÃ[˝ c˜O◊Tˆ[˝ÁªJÙEı \…ˆ◊]EıÁm◊_ ◊X„V¤` EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) AEıEı C Â^ÏU Y◊Ã[˝[˝Á„Ã[˝Ã[˝ ]„W˝Ó YÁUÔEıÓ EıÃ[˝”X* 

(F) a+◊w¯Ã[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 

(G) ªJÙÁYa ◊rÙEıÁÃ[˝› ÂGÁúˆ› C Ã[˝ÁLÍX◊TˆEı V„_Ã[˝ ]„W˝Ó ªJÙÁÃ[˝◊ªRÙO 
YÁUÔEıÓ ◊X„V¤` EıÃ[˝”X* 

(H) W˝]Ô a+„EÔı ]ÁEÔı„aÃ[˝ W˝ÁÃ[˝SÁÃ[˝ ]…_ÓÁÃ^X EıÃ[˝”X* 

(I¯) ^ÁV«◊[˝VÓÁ Eı› ? W˝]Ô C ^ÁV«◊[˝VÓÁÃ[˝ ]„W˝Ó YÁUÔEıÓ EıÃ[˝”X* 

(ªªJÙ˜) %Á◊V] aÁ]Ó[˝ÁV› a]Á„L a+◊w¯Ã[˝ W˝ÁÃ[˝SÁ ÂEı]X   
◊ªK˜_ ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) Â_ÁEıÁªJÙÁÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

(F) ◊[˝[˝Ác˜ Yà˘◊TˆÃ[˝ Y◊Ã[˝‰Y“◊l˘„Tˆ Y◊Ã[˝[˝Á„Ã[˝Ã[˝ ªJÙÁÃ[˝◊ªRÙO W˝Ã[˝X 
◊Eı ◊Eı ? 

(G) a]ÁLTˆÁ◊‹óˆEı a]ÁL C aÁ]Ó[˝ÁV› a]Á„LÃ[˝ ]„W˝Ó 
YÁUÔEıÓm◊_ ÂVFÁX* 

(H) Y◊Ã[˝[˝Á„Ã[˝Ã[˝ V«◊ªRÙO EıÁ„LÃ[˝ =‰{F EıÃ[˝”X* 

(I¯) aÁ]Á◊LEı ]…_Ó„[˝ÁW˝ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

(ªJÙ) Yg«◊L[˝ÁV [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

(ªK˜) =• w¯ ]…„_ÓÃ[˝ %UÔ ◊Eı ? 

(L) V_Y◊Tˆ`Á◊aTˆ a]ÁL [˝_„Tˆ Eı› Â[˝ÁMıÁX c˜Ã^ ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Define family. Discuss the classifications of 

family. 

(b) How did the exponents of Neo-institutional 

Economics analyse the reciprocal relation 

between economic and political   

institutions ? 

(c) Discuss the functions of political parties.   

(d) Indicate the positive role of religion. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Distinguish between nuclear and joint 

families. 

(b) What are the features of property ? 

(c) Indicate four differences between Pressure 

Groups and Political Parties. 

(d) Evaluate the Marxist views on Religion.  

(e) What is Magic ? Distinguish between 

Religion and Magic. 

(f) How was the concept of property in 

primitive communistic societies ? 

 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is meant by Folkways ? 

(b) What are the four types of families from the 

perspective of marriage practice ? 

(c) Show the differences between socialist 

society and communist society. 

(d) Mention two functions of a family. 

(e) What is meant by social value ? 

(f) What is the meaning of capitalism ? 

(g) What is the meaning of surplus value ? 

(h) What is meant by chiefdom society ? 
    


